### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

RELEASED FROM CONFIDENTI Autember 1999 Form Must Be Typed

## WELL COMPLETION FORM

L HETORY - DESCRI

Operator: License # 6044

Name: \_\_

STELBAR OIL CORPORATION, INC.

ΙP	TION OF WELL & LEASE ORIGINAL		
1	API No. 15 - 019-26613-00-00		
	County: CHAUTAUQUA		
	NE/4 - SW/4 - Sec. 24 Twp. 32 S. R. 10 F East West		
	** * * *		
	000'		
	Footages Calculated from Nearest Outside Section Corner:		
	(circle one) NE SE NW (SW)		
	Lease Name: FLOYD 'A' Well #: 14		
	Field Name: FLOYD		
	Producing Formation: MISSISSIPPIAN		
8	Elevation: Ground: 1133' Kelly Bushing: 1140'		
	Total Depth: 2045' Plug Back Total Depth: 2000' KB		
	Amount of Surface Pipe Set and Cemented at 43.8' (1 JT.) @ 52' KB Feet		
	Multiple Stage Cementing Collar Used?		
-	If yes, show depth setFeet		
1	If Alternate II completion, cement circulated from 2038' KB		
	feet depth to SURFACE w/ 300 sx cmt.		
	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)		
	Chloride content 900 ppm Fluid volume 1000 bbls		
	• •		
	Location of fluid disposal if hauled offsite:		
	Operator Name:		
	Lease Name: License No.:		
	Quarter Sec TwpS. R		
	County: Docket No.:		
r o 2 m anc	County: CHAUTAUQUA    NEI4		
e t	he oil and gas industry have been fully complied with and the statements		
	KCC Office Use ONLY		
	Letter of Confidentiality Attached		
	If Denied, Yes Date:		
	Wireline Log Received		
	Geologist Report Received		
	UIC Distribution		
_	A MILLORD I WELLEY		

Address:155 NORTH MARKET, SUITE #500	NE/4 - SW/4 - SW/4 - Sec. 24 Twp. 32 S. R. 10 F East West
City/State/Zip: WICHITA, KANSAS 67202	get from S/ N (circle one) Line of Section
Purchaser: SEMINOLE TRANSPORTATION & GATHERING	990' feet from E / (W) (circle one) Line of Section
Operator Contact Person: ROSCOE L. MENDENHALL	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 264-8378 <b>RECEIVED</b>	(circle one) NE SE NW (SW)
Contractor: Name: C&G DRILLING, INC.	Lease Name: FLOYD 'A' Well #: 14
License: 32701 <b>DEC 0 1 2003</b>	Field Name: FLOYD
Wolleite Goolegist: JOE BAKER	Draducian Farmatian MISSISSIPPIAN
Designate Type of Completion: KCC WICHITA	Elevation: Ground: 1133' Kelly Bushing: 1140'
New Well Re-Entry Workover	Total Depth: 2045' Plug Back Total Depth: 2000' KB
New Well Re-Entry Workover CC Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 43.8' (1 JT.) @ 52' KB Feet
Gas ENHR SIGW NOV 2 5 2	- Multiple Stage Cementing Collar Used?
Dry Other (Core WSW Expl. Cathodic etc.)	If yes show denth set
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 2038' KB
Operator:	" Taternate in completion, coment circulated nom
Well Name:	feet depth to SURFACE w/ 300 sx cmt.
Original Comp. Date:Original Total Depth:	Drilling Fluid Management Plan
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug Back Plug Back Total Depth	Chloride content 900 ppm Fluid volume 1000 bbls
Commingled Docket No.	Dewatering method used_EVAPORATION
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
	Operator Name:
Other (SWD or Enhr.?) Docket No.	Lease Name: License No.:
10/13/03 10/17/03 10/28/03 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
	Double Ho.
INSTRUCTIONS: An original and two copies of this form shall be filed with t Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. It months if requested in writing and submitted with the form (see rule 82-3-101) and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements
The rent are complete and correct to the best of they knowledge.	
Signature: 3 as 2 9 9 mm Lill	KCC Office Use ONLY
Title: ROSCOE L. MENDENHALL, PET. ENGINEER Date: 11/25/03	Letter of Confidentiality Attached
Subscribed and sworn to before me this 25th day of November	If Denied, Yes Date:
,	Wireline Log Received
20_03	Geologist Report Received
Notary Public: Xmgu X. Kelley	UIC Distribution
(Ginger L. Kelley) Date Commission Expires: July 1, 2004	A. GINGER L. KELLEY
	Notary Public - State of Kansas
	My Appt. Expires 07-01-2004

### CONFIDENTIAL

Side Two

ORIGINAL

Operator Name:	STELBAR OIL	CORPOR	RATION, IN	IC. Lease	e Name:.	FLOYD 'A'		_ Well #: _14			
Sec. 24 Twp. 3			West	Count		CHAUTAUQUA	API#15	-019-26	613-	-00-00	
INSTRUCTIONS: Statested, time tool oper temperature, fluid rec Electric Wireline Logs	n and closed, flowin covery, and flow rate	g and shut-i es if gas to s	n pressures, surface test, a	whether sl along with t	hut-in pr	essure reached	static level, hydro	static pressu	res. bott	om hole	
Drill Stem Tests Take		☐ Ye	s 🗹 No			.og Formatio	on (Top), Depth a	nd DatREI	EA	SED M	
Samples Sent to Geo Cores Taken	ological Survey	<ul><li>✓ Yes</li><li>✓ Yes</li></ul>				ne VNEE LS RT SCOTT LS	;	FROM Top FROM Datum  GONFIDENTIAL 1627 -498			
Electric Log Run (Submit Copy)		✓ Yes	S No		CHE	ROKEE SHA	LE	1668		-539	
List All E. Logs Run:					MIS	SISSIPPIAN	KCC	1946		-818	
1. GAMMA R	AY / NEUTRO	ON LOG	•			<b>*</b>	10V 2 6 200				
						C	ONFIDENTI	AL			
		Report		RECORD	urface inte	ew Used ermediate, product	ion etc				
Purpose of String	Size Hole Drilled	Size	Casing In O.D.)	Weig Lbs.	ght	Setting Depth	Type of Cement	# Sacks Used		and Percent Additives	
SURFACE	12 1/4"	8 5/8" @	52' KB	23#		52' KB	CLASS 'A'	30 SX.	3% C	;C	
PRODUCTION	I	5 1/2" @	2038' KB	15.5#		2038' KB	LITE CEMENT	200 SX.	6% GI	EL/3% CaCl2	
						FOLLOWED BY:	AA-2 EXPANDING	100 SX.			
<del></del>		r	ADDITIONAL	CEMENTIN	NG / SQL	JEEZE RECORD					
Purpose:  Perforate Protect Casing	Depth Top Bottom	Type of	pe of Cement #Sacks			Used Type and Percent Additives					
Plug Back TD Plug Off Zone											
				<u> </u>							
Shots Per Foot			- Bridge Plug ch Interval Perl				ture, Shot, Cement ount and Kind of Mat		d	Depth	
4 SPF	1952' - 1968' (16	')				ACIDIZE WEL	L W/2000 GAL	6. 15% NEFE	E HCL.		
		····		·				*1.************************************			
								V			
								·			
TUBING RECORD USE	Size D - 63 JTS. 2 7/8"	Set At 1970'	***************************************	Packer At	t	Liner Run	Yes 🗸 No				
Date of First, Resumerd	Production, SWD or Er	nhr. F	Producing Meth	,	Flowing	Pumping	Gas Lift	Othe	r (Explain	)	
Estimated Production Per 24 Hours	0il E	Bbls.	Gas 1	Mcf	Wate	r Bbl		s-Oil Ratio		Gravity 36	
Disposition of Gas	METHOD OF CO		J 1 1VI			Production Interva					
Vented Sold (If vented, Subr	Used on Lease nit ACO-18.)	F	Open Hole	Perf.	D	ually Comp. [	Commingled 19	952' - 1968'			

# United Cementing KCC SERVICE TICKET and Acid Co., Inc. NOV 2 5 2003 50,261

CEMENTER OR TREATER

OWNER'S REP.

(316) 321	Oil Well Cementing & Acidizing 1-4680 • 800-794-0187 • FAX (316) 321-4720	-IDENTIAL	UR1 16-13-	GINAL
25	10 West 6th Street • El Dorado, KS 67042	houto	Lugua CITY	03
CHARGE TO	HOLDEN JAL Corporation Inc. 1	4PI#1	5-019-266	13-00-00
ADDRESS	CITY		ST	
LEASE & WELL	NO. Floyd "A" Well # 14 CONT	RACTOR_	RELE	ASED
	Surface SEC. 2	14 T	WP 3) KK	9RMG. 10. F
DIR. TO LOC	9 South West Into, of MolineKs		CONFID	ENTIALW NEW
Quantity	MATERIAL USED	S	erv. Charge	48209
305X	Class A 3% CC. 65.93/			177,60/
15 K	Calcium Chloride @260			26.65
7.1.	RECEIVED .			
	DEC 0 1 2003			
	KCC WICHITA			
315X	BULK CHARGE Q961			30.38
70	BULK TRK. MILES 1, 991000	m	inch	Q1/90
70	PUMP TRK. MILES		1111111	143.90
	PLUGS			
		2630	SALES TAX	2D.74
			TOTAL	979,37
r.d. <u>53</u>	CSG. SET A	лт <u>49                                    </u>	VOLUM	E
SIZE HOLE	TBG SET AT		VOLUM	
		8 3/8		
	PKER DEPT			
PLUG USED	TÎME FINISH	HED Z!C	00	
REMARKS: <u>Ka</u>	185/8 to 49ft, Brake circulat	tion, N	1xt pum	p305X
Class A	3% CC. Displaced Cement to L	14740	and Shu	+in.
Coment	- did circulate in cellar,		· · · · · · · · · · · · · · · · · · ·	
	EQUIPMENT HEED			
IAME	EQUIPMENT USED UNIT NO. NAME			UNIT NO.
Chet.	chason P-10 Phil	lliom	alone R	<u>-</u> 3
	Tolland		MICHS IV	<del></del>
<u> </u>	·/ · · · · · · · · · · · · · · · · · ·			



# ORIGINAL

SALES OFFICE: 100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX **SALES & SERVICE OFFICE:** 10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 [620] 672-1201 [620] 672-5383 FAX

**SALES & SERVICE OFFICE:** 1700 S. Country Estates Rd. RO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

APT# 15-019-26613-00-00

### Invoice

Bill to:		8094			<del></del>		der Date			
	STELBAR OIL CORPORA	TION	3100			067 10/17/03				
	155 N MARKET #500		Comont	Service Description Cement KELEASED						
	WICHITA, KS 67202	RECEIVED	Cement		FROM	هدان				
	110V 2 C 2013	DEC 0 1 2003		C (	NFIDEN	TIAT We	11			
		CC WICHITA		Floyd		A1				
AFE	CustomerRep	Treater	Well	Type P	urchase Order	Terr	ns			
	R. Mendenhall	B. Drake	New Wo	ell		Net :	30			
ID.	Description		<u>UOM</u>	Quantity	Unit Price	<u>Price</u>	e			
D205	AA2 (COMMON)		SK	100	\$13.19	\$1,319.00	(T)			
D206	A-SERV LITE (COMMON	()	SK	200	\$8.65	\$1,730.00	(T)			
D203	60/40 POZ (COMMON)		SK	25	\$7.84	\$196.00	(T)			
C140	KCL, POTASSIUM CHLO		LB	165	\$0.50	\$82.50	(T)			
C194	CELLFLAKE	KCC	LB	67	\$2.00	\$134.00	(T)			
C195	FLA-322	OV 2 5 Zinis	LB	76	\$7.50	\$570.00	(T)			
C196	WCA-1		LB	10	\$25.00	\$250.00	(T)			
C243	DEFOAMER CO	NFIDENTIAL	LB	19	\$3.00	\$57.00	(T)			
C310	CALCIUM CHLORIDE	n el el million common n. n. s.	LBS	516	\$0.75	\$387.00	(T)			
C302	MUD FLUSH		GAL	500	\$0.75	\$375.00	(T)			
F101	TURBOLIZER, 5 1/2"		EA	10	\$71.00	\$710.00	(T)			
F131	STOP COLLAR, 5 1/2"		EA	1	\$20.00	\$20.00	(T)			
F171	LATCH DOWN PLUG & F	BAFFLE, 5 1/2"	EA	1	\$250.00	\$250.00	(T)			
F211	AUTO FILL FLOAT SHOP	E, 5 1/2"	EA	1	\$320.00	\$320.00	(T)			
F800	THREADLOCK COMPOU	ND KIT	EA	1	\$30.00	\$30.00	(T)			
E107	CEMENT SERVICE CHAR	RGE	SK	325	\$1.50	\$487.50				
E100	HEAVY VEHICLE MILEA	GE - 1 WAY	MI	150	\$3.25	\$487.50				
E104	PROPPANT / BULK DELI MILE, \$200 MIN	V SERVICES/TON	TM	2175	\$1.30	\$2,827.50				
E205	ACID PUMP SERVICE WI CO2 OVER 2 HRS	TH FOAM OR	HR	1	\$187.50	\$187.50				
E701	BALL INJECTOR		EA	1	\$275.00	\$275.00				
E702	FRAC VALVE RENTAL, 3	"-4", PER JOB	EA	1	\$350.00	\$350.00				
					Sub Total:	\$11,045.50				
					Discount:	\$3,208.45				
				Discount	Sub Total:	\$7,837.05				



### ORIGINAL

SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

API#15-019-26613-00-00

KCC

MOV 2 6 2003

CONFIDENTIAL

Invoice

Chautauqua County & State Tax Rate: 6.30%

(T) Taxable Item

Taxes:

\$287.44

**Total:** \$8,124.49

RELEASED FROM CONFIDENTIAL

· ·	์	וחבאודות	At	IT#15-0	119-260	13-00-0	クロ	ORIG	INAL
<u>Ja</u>	CONFIDENTIAL PROPERTY.			Subie	ect to Correction	FIE	LD O	RDER	7067
		Dai	11-17-03	Lease	/	Well #	9-14	Legal 24.32	
			stomer ID	County	1			Station /	<u>10</u> (1
SER	VICES,	/ //		Depth Depth	FAUCLIA KFormation		<u>/</u> //	Shoe Joint 7	<u>r</u>
£ 570	bar Vil	Corp.		Casing	Casing Depth	TD -		ری	
A R ———			VUC	51/2		20	45	5 1/2 long	trying NowW
G E		# <u>0v</u>	2 5 2003	Customer Repre		Enderhall '	reater Bob	by Drake	)
AFE Number	· · · · · · · · · · · · · · · · · · ·	CONF. PO Number	DENTIAL	Materials Received by	x los	ioe J	Zun	Derl	al
Product Code	QUANTITY	MATERIAL	EQUIPMENT and S	ERVICES USED	UNITARICE	AMOUNT	C	ACCO DRRECTION	OUNTING AMOUNT
1205	100 sK.	AA2 (	(common)		V				
0206	2005K	Aservel	ite Com	en)					
1203	255K.		er (commo		1		₩FI	EASED	
C140	16516.	KCL, Pot	assium Chi	oride	/		T	ROM	
<u>C194</u>	67/6.	Cellflak	<u> </u>		/		AND	HENTI I	<u>. T</u>
C195	76/6.	FLA-32	<i>3</i>		/		TATA.		
C196	1016.	WEA-1							
<u>C243</u>	1916.	Detame	<u>~</u>						
<u>C310</u>	5/6/6.	Calchen	Chloride		1				***************************************
<u>C302</u>	500 gul.	Mus F	-lush						
F101	10ea.	Turbulize	r, 51/2		1				
E131	lea.	Stop Cul	ar, 5/2	4 : 41 1	V				****
F/11	Ira.	Latch Do	-1 1 1.	8attle, 51/2	V				
F211	lea.	ALLTO FALL	Float Shoc,	51/2	V				
F 800	lon	Thread lot	K Compaund	KIT	V				Mark a transfer of the section of th
						***			
***************************************		***************************************							
~ 10m	22/ 11	111	. 11			· Pharmachael and a state of the state of th			
E107	3255K.		vice Charge						
E 100 E 104	150 ml. 2175 tm.	TONS	MILES MILES	um,			-		
R205	Lea.	<u> </u>	DOO: PUMP CHA	ARGE					
R701	lea.	Cont. Her	//						
R702	129.		vivel Renta	/	<b>†</b>				
1. 102		course !	VIET KENG	/·			1		10-11-11-11-11-11-11-11-11-11-11-11-11-1
			Disceun	ted like	783705				
10244 NE H	iway 61 - P.O.	. Box 8613 - Pr	att, KS 67124-86				3 TOTAL		

· · · · · · · · · · · · · · · · · · ·		ONF	FID	ENT	IAL						ATMENT	OR	LGIN	AL
					Al	I# 1	5-01 Customer	19-26 10	613-00	-00	AIVIEN	REPOR	<u> </u>	
				7			Customer	tella	11		10-17	7-03		
SER	V I C	E S		LC		1	.0080	vd	UII (O)	<u> </u>	Lease No.		Well #	4
Field Order #		Statio		at		KCC	N.	Casing	L	pth	County Cha	utauque Legal Descr	4	State /
Type Job	1/2 4	ng s	M	ng	NΩ	v 2 6	2003	_	Formation	) 		Legal Descr	iption 24-32	2-10
	PE DAT			PE	RFORA	TING D	ATA AL		FLUID USE	D		TREATMEN	T RESUME	
Casing Size グル	Sul T	ubing S	ize	Shots/I	FI CU!	Long	7	Dock 1	A-Serve L	fe_	RAT		ISIP	
Depth 2045		epth		From		То		Pre Pad	97.CE	1/4 Cellfle		2-2	EASED	
Volume		olume		From	.,,	То		12.54	jul 2.0.	25+)	Min		OlVPin.	A 417
Max Press		lex Pres		From		TO TA	11	1805K	442		Avg	CONFI		<u> </u>
Well Connect		nnulus '		From		То		Ver Cellil	No 570 (4	15et	HHP Used		Annulus P	
Plug Depth		acker D	epun	From		То		14.8%	I sty	41				
Customer Re	presenta	ino .	2	M		Stat	tion Mana	fere	Antry		Treater	by the	Ke	
Service Units	Cas	ina	T 7.	ubing	105	4	<u>/</u>	37	36	7/	<u>' L.</u>			
Time	Pres	-		esure	Bbls.	Pumped		Rate		, ,	Ser	vice Log		
11:30					<u> </u>				Unlo	castor		-1 1 1	/	/ i AV
11:58	ļ								Then	204	5/2 (sq			
							+		Biffle	on 51	we Joint	- 5top (	aller +1	ent.
1/1/2									3'ak	our t	5 Cent.		· 9	11/
1410							-		159.0	M BITA	in Hook	up to C	eg. Viet	2 Pall
1495	<u> </u>				11				Broak	Mre. W	1/1/10 - 7	astate Cs	g.	
1617					12	<u> </u>	-	***************************************	1 .		ed Flush			
1625	100				7	'フ		/ 0	A2O	Spac	Conta	19 15	±/ n	**************************************
1626	150				3.			6.0 5.5						7 0
1638 1647	129				<u>ال</u> م		<del>┼</del>	1.7	د حد ا	1	ing Tail		17.87	gal
125/					4	I	<del>                                     </del>	5.5	51	- Tus	o-Cont.	Con 1	41 3	<u></u> GKLL 12 ·
1704						<i></i>	1 -			Dou		MICHIO	ra U	1011.Ca
1720							1		1/	Post	1 He lo -	7.11	myle	T-
									12	100		JOB (	- yer	
									Than	K Br	by Drak	4		-
										<del></del>	7 7			
					-	<del></del>								
102	44 NE	Hiw	ay 6	31 • P.	O. Box	8613	• Prati	, KS 67	124-8613	• Phone	(620) 672-12	01 • Fax (	620) 672-	5383